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25.5 722
51.2 46.1
48.5 47 4
29.8 65.7
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o121 40CH (20)
50cH (50)
60cH (85)
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CHE/ZEHMIE) (74) 42.3 22.8 15.5 41 9.2 1.4 4.7 0.0
B 4x/Het (85) 26.0 24.4 1.4 13.8 11.2 8.2 5.0 0.0
/3% (45) 35.9 19.1 7.6 16.2 2.2 10.2 8.8 0.0
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INREN= (99) 345 21.7 14.4 12.0 4.9 9.6 2.8 0.0
g2t (152 29.6 17.5 13.8 14.1 13.6 10.0 1.3 0.0
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mappe o) =y ogar G T35 .3 |
zoisz NN 7.0 |
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fory 5 st 2 oz I 7.4 ]
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300 (134) 612 41 44 82 102 6.1 13 06 33 07
40t (182) 545 47 94 128 54 26 22 05 70 08
500 (207) 490 184 105 40 67 54 09 15 19 16
60 (1770 381 209 158 58 42 48 18 44 26 16
70M|04  (138) 295 212 208 73 57 46 40 27 30 1.2
(201)
(325)

51.5 13.9 12.2 7.1 6.7 2.0 1.8 0.9 3.3 0.6
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2 (310) 430 192 139 7.2 6.6 3.9 0.9 2.8 2.5 0.0
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